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@ Drow counters to complete the
part-whole models.
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o Complete the part-whole models.
Complete the sentences.

a) ° The whole is |
 |isa part.
a I is a part.

b)
° The whole is | |

) () [ rorn

() |is a part.

o There are 6 apples in total.
2 apples are green.
The rest are red.

Colour the apples.
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Complete the number sentence. 2 +
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° There are 8 shapes in total.
3 of the shapes are squares.

The rest are circles.

Draw a picture to show this.

How many circles are there?

Complete the number sentence.
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© Complete the number sentences.
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@ There are 9 children on the bus.
5 more children get on the bus.

How many children are on the bus now?

Complete the ten frames and the sentences.
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Mo’s method
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What is the same and what is different?

Use the number lines

to work out the additions.

\\M\\\

<

8

[
Tt
910111213 141516 17 18

I T
LA I S B T
012345678 9101112131415161718




image11.png
@ Eva has 4 coins.
Jack gives her 7 more coins.
How many coins does Eva have now?

Draw on the number line and complete
the sentences.

Eva has| | | | coins now.

@ Ron and Mo are working out 3 + 11 on a
number line.

Ron’s method
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@ Complete the additions to match the

ten frames.
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9 What do you notice?
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o Complete the number bonds.

Q) 4+6=||") Q0= [+1
4+16=| )0 20=| |G [+1
b)5+5=| () d10=3+| /

5+15=| )0 20=| 7 |[+13

o Complete the bar models.
a) Q

o
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@ Colour all the number bonds to 20
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© Look at the picture.
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Complete the part-whole model and
fact family.

[0+ 9=

(v ][0

8 - 4=

Can you write each number sentence a
different way?
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o Complete the fact family for each bar model.
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) Draw your own bar models.

Ask a partner to write the fact family
to match.




